COLE, RAYWID & BRAVERMAN, LLP 1919 Pennsylvania Avenue, NW Suite 200 Washington, D.C. 20006 Telephone: (202) 659-9750 Fax: (202) 452-0067 Steven J. Horvitz Special Counsel to Debtors and

Debtors-In-Possession

UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK

In re:	Chapter 11 Case No. 02-41729 (REG)
ADELPHIA COMMUNICATIONS, et al.,	
Debtors.	(Jointly Administered)

FINAL APPLICATION OF COLE, RAYWID & BRAVERMAN, LLP, AS SPECIAL COMMUNICATIONS REGULATORY COUNSEL FOR DEBTORS AND DEBTORS-IN-POSSESSION, FOR INTERIM ALLOWANCE OF COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES INCURRED FROM MAY 1, 2003 THROUGH DECEMBER 31, 2006

TO THE HONORABLE ROBERT E. GERBER UNITED STATES BANKRUPTCY JUDGE:

Cole, Raywid & Braverman, LLP ("CRB"), as special communications regulatory counsel for the above-captioned debtors and debtors-in-possession in these cases (the "Debtors"), in support of its final application (the "Final Application") for allowance of compensation for professional services rendered and reimbursement of expenses incurred from May 1, 2003 through December 31, 2006 (the "Final Application Period")¹, respectfully requests:

On January 1, 2007, the attorneys of CRB joined Davis Wright Tremaine LLP. Fees and expenses relating to services provided by former CRB attorneys from and after January 1, 2007 are being included in the separate application submitted by Davis Wright Tremaine, LLP.

PRELIMINARY STATEMENT

- 1. By this Final Application and pursuant to sections 330 and 331 of title 11 of the United States Bankruptcy Code (the "Bankruptcy Code") and Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), CRB requests that this Court authorize (a) final allowance of compensation for professional services CRB rendered to the Debtors during the Final Application Period in the amount of \$7,180,510.71, and (b) the reimbursement of actual and necessary expenses CRB incurred in connection with the rendition of such professional services in the amount of \$311,370.42.
- 2. During the Final Application Period, CRB expended time, skill and effort towards, inter alia: (a) assisting the Debtors in protecting their crucial assets, including their cable television franchises, FCC licenses, state authorizations, copyright licenses, broadcast and cable programming agreements and utility pole and conduit use agreements; (b) assisting the Debtors in their compliance with statutory and regulatory obligations in the Chapter 11 environment for holders of governmental and private licenses or, alternatively, in obtaining waiver or other relief from such obligations; (c) advising on local, state and federal issues under Title VI of the Communications Act; (d) engaging in advocacy before local, state and federal agencies and other governmental units; (e) counseling on regulatory issues, including required regulatory filings as well as regulatory approvals; and (f) assisting the Debtors in obtaining necessary consents from local and state franchising authorities to transfer the Debtors' cable franchises, in connection with the sale to Comcast and Time Warner.
- 3. This Court has jurisdiction over this Final Application pursuant to 28 U.S.C. §§ 157 and 1334 and the "Standing Order of Referral of Cases to Bankruptcy Judges," dated July 10, 1984, of District Court Judge Robert T. Ward. Venue of these cases and this Final

Application is proper in this district pursuant to 28 U.S.C. §§ 1408 and 1409. The statutory predicates for the relief sought herein are sections 330 and 3331 of the Bankruptcy Code and Rule 2016 of the Bankruptcy Rules.

GENERAL BACKGROUND

- 4. On July 25, 2002 (the "Petition Date"), the Debtors filed a voluntary petition for relief under chapter 11 of title 11 of the Bankruptcy Code. The Debtors continued in possession of their respective properties and the management of their respective businesses as debtors in possession pursuant to sections 1107 and 1108 of the Bankruptcy Code.
- 5. By order dated July 22, 2003, CRB was retained as special communications regulatory counsel to provide services to the Debtors in connection with their chapter 11 cases. CRB's services have been substantial, necessary, and beneficial to the Debtors and to their estates, creditors, and other parties in interest. The Debtors held nearly three thousand cable television franchises and hundreds of FCC licenses and provided a broad range of video, data and voice services to over 5 million customers. Throughout the Final Application Period, the variety of issues involved cases of first impression for many of these issues in preserving these authorizations and the need to address those issues on an expedited basis required CRB, in discharge of its responsibilities, to devote substantial time by professionals from many legal disciplines.
- 6. CRB maintains detailed billing records based on one-tenth hourly increments of time expenses by attorneys and paraprofessionals in the rendition of professional services to the Debtors. Such time records are made contemporaneously with the rendition of services by the person rendering such services. Copies of these time records, including the number of hours expended by the partners, associates, and paraprofessionals of CRB by project category, have

previously been provided to Legal Cost Control ("LCC") in conjunction with CRB's submittal of invoices. Accordingly, such daily time records are not being filed herewith, but are available upon request.

- 7. For the convenience of the Court and parties-in-interest, annexed hereto as Exhibit B is a list of the attorneys and paraprofessionals who have worked on those matters during the Final Application Period, the aggregate time expended by each individual during the Final Application Period, his or her hourly billing rate during the Final Application Period, and the amount of CRB fees attributable to each individual.
- 8. CRB also maintains records of all actual and necessary out-of-pocket expenses incurred in connection with the rendition of professional services. A schedule setting forth the categories of expenses and amounts for which reimbursement is requested during the Final Application Period is annexed hereto as Exhibit C.
- 9. CRB specializes in communications law, including cable television regulation and franchising issues. CRB has extensive expertise in business and regulatory issues affecting the cable television and telecommunications industries. Over the past ten years, CRB has handled more cable television franchise renewals, transfers and disputes than any other firm in the country. As of January 1, 2007, the attorneys of CRB joined Davis Wright Tremaine LLP.

SUMMARY OF INTERIM APPLICATIONS

10. CRB has previously submitted to this Court Applications for Interim Allowance of Compensation for Services Rendered and Reimbursement of Expenses for the Third through Twelfth Interim Periods. A summary of the compensation requested, amounts previously paid, and amounts still pending is set forth below.

Total Fee and Expenses for Interim Period	Amount Paid Based on Monthly Fee and Expenses Statement	20% Holdback	10% Holdback Paid after Interim Application	Fee Committee Reduction	Final Holdback Paid on Effective Date	Hold Back Still Pending
\$241,368.18	\$ 195,234.18	\$ \$ 46,134.00	(\$10,317.00)	(13,479.00)		\$ 22,338.0
\$642,468.27	\$ 517,574.2	'\$ 124,894.00	(\$39,447.00)	(24,957.00)		\$ 60,490.0
\$830,757.23	\$ 677,369.23	\$ \$ 153,388.00				\$ 153,388.0
\$1,190,308.20	\$ 965,071.20	\$ 225,237.00	(\$111,452.00)	(1,240.00)		\$ 112,545.0
\$688,899.04	\$ 558,661.04	\$ 130,238.00	(\$65,045.00)	(6,872.00)	\$ (77,162.00)	\$ (18,841.00
\$524,575.29	\$ 426,427.29	\$ 98,148.00				\$ 98,148.0
\$1,158,761.60	\$ 971,850.60	\$ 186,911.00	(\$112,835.00)	(600.00)		\$ 73,476.0
\$1,172,478.43	\$ 969,349.4	\$ 203,129.00			\$ (501,543.00)	\$ (298,414.00
\$1,027,657.08	\$ 774,755.9	\$ 258,884.00				\$ 258,884.0
\$14,607.81	\$ 6,142.00	\$ 2,482.92				\$ 2,482.9:
\$7,491,881.13	\$ 6,062,435.2	\$ 1,429,445.92	\$ (339,096.00)	(47,148.00)	\$ (578,705.00)	\$ 464,496.9

FEE COMMITTEE CRITERIA

Case. Cole, Raywid & Braverman, LLP ("CRB") serves as specialized communications counsel to the Debtors in the Adelphia case, with the objectives of: (a) assisting the Debtors in protecting their crucial assets (including cable television franchises, FCC licenses, state authorizations, copyright licenses, broadcast and cable programming agreements, and utility pole and conduit use agreements); (b) assisting the Debtors in complying, in the Chapter 11 environment, with statutory and regulatory obligations imposed on holders of governmental and private licenses, or, alternatively, in obtaining waivers or other relief from such obligations; (c) advising the Debtors regarding local, state and federal issues under Title VI of the Communications Act; (d) advocating on behalf of the Debtors before local, state and federal agencies and other governmental units; and (e) counseling the Debtors on regulatory issues, including required regulatory filings and needed regulatory approvals, including securing transfer authority for various franchises in connection with the sale to Comcast and Time Warner.

During its representation CRB has:

- Assisted the Debtors in the negotiation, renewal, and extension of certain cable television franchises, FCC licenses and authorizations, and state certifications;
- Assisted the Debtors in analyzing cable television franchise obligations and addressing related compliance issues, including franchise fee audits;
- Assisted the Debtors in receiving necessary consents from local and state franchising authorities to transfer the Debtors' cable franchises, in connection with the sale of assets to Comcast and Time Warner;
- Represented the Debtors in litigation before federal and state courts, the FCC, state public utility commissions and local franchising authorities, and, when necessary, taken appeals therefrom;
- Assisted the Debtors with strategic planning and analysis related to its operations and provision of cable television and other communications services;
- Assisted the Debtors in analyzing regulatory obligations and addressing related compliance issues; and

• Assisted in pending and ongoing matters as authorized by the Debtors in the ordinary course of business, including, without limitation, subscriber agreements, rate regulation, effective competition proceedings, mandatory carriage of broadcast signals, copyright liability issues, equal employment opportunity issues, negotiation of pole attachment contracts, executory contract issues and other regulatory and statutory compliance matters.

CRB's representation allowed Debtors to continue operations during the Chapter 11 proceeding, and helped the Debtors effect a sale of assets to Comcast, Time Warner and other purchasers.

- 12. The time billed for the services and the billing rates. The time billed and billing rates for CRB are set forth in Exhibit B hereto. The time billed by CRB was necessary to accomplish the desired objectives, and the billings rates are reasonable.
- 13. Steps taken by the Final Applicant to provide services solely within their scope of employment, as prescribed by their respective retention orders. CRB was retained as special communications counsel, and all services were within the scope of that retention.
- professionals in the Adelphia Case to limit or prevent duplication of work being done.

 CRB was in regular communication with Maria Arias, Tom Carlock, Greg Cannon, Kathy

 Hutton, Leslie Brown, Nancy Murphy, and Andy Elson at Adelphia to ensure that the Debtors stayed apprised of the work undertaken by CRB, and to ensure that services were not duplicated. Through regular communication with lawyers at Adelphia, CRB was able to prevent any significant duplication of effort and to accomplish tasks in the most efficient manner possible.
- the time at which the services were rendered. The services provided by CRB allowed Adelphia to protect its crucial assets and continue with its normal course of business during the bankruptcy, by allowing it to assure the operation of its cable television systems was in compliance with its franchises and with federal, state and local regulations. The services

provided by CRB in connection with the transfer of cable television franchises and FCC licenses was necessary to permit the sale of assets which raised funds with which to pay creditors.

Ultimately, the transfer of cable television franchises was an integral part of the sale to Comcast and Time Warner

- commensurate with the complexity, importance and nature of the problem, issue or task addressed. CRB provided timely service on all matters for which it was engaged. During the pendency of the bankruptcy, CRB, working closely with Adelphia in-house staff, made sure that the legal services provided were only those necessary for the maintenance and improvement of Adelphia's assets. During the process of selling assets, including the sale to Comcast and Time Warner, CRB worked within tight time frames to ensure the transfer of cable franchises, FCC licenses and other assets.
- Adelphia's prior performance under various governmental authorizations raised a host of regulatory issues, which certain regulatory authorities (particularly local franchising authorities) were interested in exploring and/or exploiting. Bankruptcy also posed myriad issues under various governmental authorizations. This backdrop made it particularly difficult to navigate the already challenging regulatory environment faced by any large cable television operator.
- 18. **Compliance with Fee Committee Memorandum.** CRB has made a diligent attempt to comply with the Fee Committee Memorandum, and believes that it has done so.
- 19. Any amounts by which the fees of the Final Applicant have been reduced voluntarily, with respect to an Interim Application or otherwise, prior to their submission to or review by the Fee Committee identified by work code or, if none, by description. CRB

has voluntarily reduced the amounts of fees for which it seeks reimbursement. Although CRB believes that its billing rates are reasonable and its efforts on Adelphia's behalf were necessary and efficiently performed, CRB voluntarily provided Adelphia with a 10% discount with respect to all work performed. CRB on occasion voluntarily made additional reductions if the responsible attorneys had any concerns regarding the efficiency of the legal effort. All such voluntary reductions were undertaken prior to submission to or review by the Fee Committee.

- 20. Any amounts by which the fees of the Final Applicant have been reduced at the recommendation of the Fee Committee, with respect to an Interim Application or otherwise, identified by work code or, if none, by description. CRB reduced its fees by an aggregate of \$47,148.00 at the recommendation of the Fee Committee with respect to the Interim Applications.
- 21. Any amounts by which the expenses of the Final Applicant have been reduced voluntarily, with respect to an Interim Application or otherwise, prior to their submission to or review by the Fee Committee identified by expense category. CRB has not voluntarily reduced the amount of expenses for which it seeks reimbursement. These expenses were necessary expenses incurred in the course of CRB's representation of the Debtors. Included in the expenses were advances of significant amounts for filing fees in connection with cable television franchises and FCC licenses.
- 22. Any amounts by which the expenses of the Final Applicant have been reduced at the recommendation of the Fee Committee, with respect to an Interim Application or otherwise, identified by expense category. To our knowledge, the Fee Committee has not recommended a reduction of CRB's expenses with respect to an Interim Application or otherwise.

23. Any other matters that the Fee Committee believes should be considered by the Bankruptcy Court in its final determination of compensation and expense reimbursement for the Final Applicant. CRB believes that Adelphia received excellent value for the services provided by CRB. Services were provided efficiently and effectively and the fees were reasonable.

CRB's REQUEST FOR FINAL COMPENSATION

24. The allowance of interim compensation for services rendered and reimbursement of expenses incurred in bankruptcy cases is expressly provided for in section 331 of the Bankruptcy Code:

[A] debtor's attorney, or any professional person...may apply to the court not more than one every 120 days after an order for relief in a case under this title, or more often if the court permits, for such compensation for services rendered...as is provided under section 330 of this title.

11 U.S.C. § 331.

25. Concerning the level of compensation, section 330(a)(1) of the Bankruptcy Code provides, in pertinent part, that the court may award to a professional person, including the debtor's attorney:

...reasonable compensation for actual, necessary services rendered by the...professional person, or attorney....

- 11 U.S.C. § 330. The Congressional intent and policy expressed in section 330 of the Bankruptcy code is to provide for adequate compensation to continue to attract qualified and competent practitioners to bankruptcy cases.
- 26. CRB submits that its request for final allowance of compensation is reasonable.

 CRB undertook only those activities directed and authorized by Debtors. CRB has expeditiously

and effectively responded to a number of requests by Debtors for legal assistance during the Final Application Period. The services rendered by CRB required substantial time and effort and, in the bankruptcy context, are characterized by a high degree of novelty, and to a large degree, complexity. Many of CRB's services involved matters of first impression in the increasingly competitive cable television multi-channel video and telecommunications environment. The services rendered by CRB during the Final Application Period were performed diligently and efficiently. Accordingly, CRB delegated tasks to attorneys with specialized expertise in the particular task at issue. In doing so, CRB, however, sought to utilize the most cost and time efficient means available, consistent with achieving the desired goals. Where possible, junior, lower rate associates and/or paraprofessionals were utilized. CRB was able to accomplish many of the tasks more efficiently, even despite their novel and complex nature, because of its active experience with the core businesses of the Debtors, the relevant industries and the government institutions that oversee and regulate them.

- 27. CRB has been faced with the normal and usual time deadlines governed by FCC rules, local franchising authorities, orders or by courts in proceedings CRB is handling for the Debtors.
- 28. CRB's fee is neither fixed or contingent. It is based upon the actual number of hours worked (less hours written off) plus the actual costs incurred. Additionally, CRB has agreed that while acting as Special Counsel, it would provide Debtors with a ten percent discount for hourly fees. The services rendered to the Debtors by CRB during the Final Application Period required an aggregate expenditure of 25,182.5 recorded hours of the time of attorneys and paraprofessionals. Exhibit B sets forth a list of such individuals, the aggregate amount of time expended by each.

- 29. CRB incurred actual and necessary out-of-pocket during the Final Application Period, in connection with the rendition of the professional services described above, in the amounts set forth in Exhibit C.²
 - 30. The disbursements for which CRB seeks reimbursement include the following:
- a. <u>Duplicating</u>. Charged at \$0.10 per page for May 2003 through December 2006. The charge per page includes a charge for maintaining the duplicating facilities;
- b. <u>Telecommunications</u>. Long distance calls are billed at actual cost.

 Outgoing domestic facsimile transmittals are billed at \$1.00 per page, while there is no charge for incoming facsimiles. This rate is based upon costs incurred by CRB for machine maintenance, phone line rental and supplies used in operating the fax machine;
- c. <u>Computer Research Charges</u>. CRB's practice is to bill clients for LEXIS and Westlaw research at actual cost, which does not include amortization for maintenance and equipment;
- d. <u>Overtime Expenses</u>. CRB's practice is to allow any employee working over a 9.5 hrs/day to charge a working meal to the appropriate client. The meal charge is limited to \$20 per person;
- e. <u>Local Car Service</u>. CRB's practice is to allow attorneys, paraprofessionals and secretaries to charge car service to the appropriate client after 8:00 p.m.; and
- f. <u>Delivery Services</u>. CRB's practice is to charge postal, overnight delivery and courier services at actual costs; and

² CRB's standard practice is to treat certain expenses as having been incurred when such obligations are recorded and reflected as payable in CRB's accounting system.

31. As this Final Application presents no novel issue of law, CRB requests that the
Court dispense with the requirement of Local Bankruptcy Rule 9013-1(b) that a memorandum of
law be submitted herewith.

CONCLUSION

WHEREFORE, CRB respectfully requests that this Court enter an order awarding CRB:

- (a) final compensation from the Debtors for services rendered from May 1, 2003 to December 31, 2006, inclusive in the amount of; \$7,180,510.71.
- (b) reimbursement of actual, necessary expenses incurred in connection with the rendition of such services, in the amount of \$311,370.42 and
 - (c) such other and further relief as may be just.

Dated: March 30, 2007

COLE, RAYWID & BRAVERMAN, LLP

By:

Steven J. Hervitz

1919 Penns Ivania Avenue NW, Suite 200

Washington, D.C. 20006 Phone: (202) 659-9750 Fax: (202) 452-0067

Special Counsel to Debtors and Debtors-In-Possession

Sworn to before me this 30th day of March, 2007

Nichele Y. Rice

Notary Public, District of Columbia My Commission Expires June 30, 2010

EXHIBIT A

TIME RECORDS

TIME RECORDS ARE NOT BEING ELECTRONICALLY FILED

TIME RECORDS WILL BE PROVIDED UPON REQUEST

EXHIBIT B

COLE RAYWID & BRAVERMAN, LLP ATTORNEYS, PARAPROFESSIONALS HOURLY RATES

Hrs. 10.40 10.50 77.50 42.80 91.10	Rate \$100.00 \$105.00	Value Before Discount	Value After 10% Discount
10.40 10.50 77.50 42.80	\$100.00 \$105.00	Discount	Discount
10.40 10.50 77.50 42.80	\$100.00 \$105.00		
10.50 77.50 42.80	\$105.00		\$936.00
77.50 42.80		1102.5	
42.80	\$320.00	24800	\$22,320.00
		14124	\$12,711.60
		26874.5	\$24,187.05
216.20		63779	\$57,401.10
			\$21,160.35
			<u> </u>
		1	
	79.70 3.70 0.50 20.30 1.60 58.00 3.00 72.40 20.40 59.30 52.60 17.80 3.30 248.70 50.60 4.80 6.90 9.00 23.50 12.80 7.40 85.30 39.50 90.60 19.50 9.40 1.70 19.50 23.50 4.50 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30 6.20 1.30	79.70 \$295.00 3.70 \$295.00 0.50 \$320.00 20.30 \$320.00 1.60 \$320.00 58.00 \$320.00 72.40 \$340.00 20.40 \$340.00 59.30 \$340.00 52.60 \$340.00 3.30 \$340.00 248.70 \$370.00 50.60 \$480.00 4.80 \$480.00 9.00 \$480.00 23.50 \$480.00 7.40 \$480.00 24.40 \$480.00 85.30 \$480.00 85.30 \$480.00 90.60 \$480.00 19.50 \$480.00 19.50 \$480.00 19.50 \$480.00 19.50 \$480.00 23.50 \$505.00 4.50 \$505.00 26.80 \$505.00 4.50 \$505.00 26.80 \$505.00 3.30 <td< td=""><td>79.70 \$295.00 1091.5 3.70 \$295.00 1091.5 0.50 \$320.00 160 20.30 \$320.00 6496 1.60 \$320.00 18560 58.00 \$320.00 960 72.40 \$340.00 24616 20.40 \$340.00 6936 59.30 \$340.00 20162 52.60 \$340.00 17884 17.80 \$340.00 6052 3.30 \$340.00 1122 248.70 \$370.00 92019 50.60 \$480.00 24288 4.80 \$480.00 2304 6.90 \$480.00 2304 6.90 \$480.00 3312 9.00 \$480.00 3312 9.00 \$480.00 3552 3.30 \$480.00 1280 12.80 \$480.00 1584 6.10 \$480.00 1584 6.10 \$480.00 1584</td></td<>	79.70 \$295.00 1091.5 3.70 \$295.00 1091.5 0.50 \$320.00 160 20.30 \$320.00 6496 1.60 \$320.00 18560 58.00 \$320.00 960 72.40 \$340.00 24616 20.40 \$340.00 6936 59.30 \$340.00 20162 52.60 \$340.00 17884 17.80 \$340.00 6052 3.30 \$340.00 1122 248.70 \$370.00 92019 50.60 \$480.00 24288 4.80 \$480.00 2304 6.90 \$480.00 2304 6.90 \$480.00 3312 9.00 \$480.00 3312 9.00 \$480.00 3552 3.30 \$480.00 1280 12.80 \$480.00 1584 6.10 \$480.00 1584 6.10 \$480.00 1584

	16.70	\$540.00	\$9,018.00	\$8,116.20
Brian Hurh	2.30	\$125.00	\$287.50	\$258.75
	20.00	\$125.00	2500	\$2,250.00
	34.30	\$125.00	4287.5	\$3,858.75
	3.40	\$150.00	510	\$459.00
	18.00	\$150.00	2700	\$2,430.00
	3.00	\$150.00	450	\$405.00
	32.40	\$175.00	5670	\$5,103.00
Bob Jystad	2.50	\$235.00	587.5	\$528.75
	3.60	\$235.00	846	\$761.40
	10.60	\$235.00	2491	\$2,241.90
	2.20	\$235.00	517	\$465.30
	8.70	\$235.00	2044.5	\$1,840.05
	3.90	\$235.00	916.5	\$824.85
	11.40	\$235.00	2679	\$2,411.10
	6.70	\$235.00	1574.5	\$1,417.05
	19.80	\$235.00	4653	\$4,187.70
	2.10	\$250.00	525	\$472.50
Brian Nixon	5.50	\$120.00	660	\$594.00
Dilair W.X.	11.00	\$120.00	1320	\$1,188.00
	9.30	\$150.00	1395	\$1,255.50
	2.20	\$150.00	330	\$297.00
	94.20	\$175.00	16485	\$14,836.50
Brian M. Josef	11.10	\$195.00	2164.5	\$1,948.05
Dilan W. Josef	0.70	\$195.00	136.5	\$122.85
	1.80	\$195.00	351	\$315.90
	0.30	\$195.00	58.5	\$52.65
	1.80	\$210.00	378	\$340.20
	31.90	\$210.00	6699	\$6,029.10
	1.70	\$210.00	357	\$321.30
	0.60	\$210.00	126	\$113.40
	5.10	\$210.00	1071	\$963.90
	0.30	\$210.00	63	\$56.70
	3.40	\$245.00	833	\$749.70
Brinda Easter	0.30	\$100.00	30	\$27.00
Dilida Eastei	3.90	\$100.00	390	
Cathleen Coopey Cabulty	1.30	\$180.00	234	\$210.60
Cathleen Cooney-Schultz	1.60	\$180.00	288	\$259.20
	0.50	\$180.00	90	\$81.00
			180	\$162.00
	9.70	\$180.00		\$1,658.70
		\$190.00	1843	
•	141.48	\$150.00	21222	\$19,099.80 \$171.00
	1.00	\$190.00	190	
	36.70	\$150.00	5505	
	131.00	\$190.00	24890	
	37.90	\$150.00	5685	
	5.50	\$190.00	1045	
	3.50	\$150.00	525	
	0.70	\$190.00	133	
	0.20	\$190.00	38	
	2.50	\$190.00	475	
	1.00	\$195.00	195	\$175.50

:	0.20	\$210.00	42	\$37.80
Carrie Lam	2.80	\$150.00	420	\$378.00
	1.90	\$165.00	313.5	\$282.15
	9.20	\$165.00	1518	\$1,366.20
	11.50	\$165.00	1897.5	\$1,707.75
	13.20	\$165.00	2178	\$1,960.20
	0.90	\$165.00	148.5	\$133.65
	0.20	\$165.00	33	\$29.70
	6.10	\$165.00	1006.5	\$905.85
	31.70	\$165.00	5230.5	\$4,707.45
	5.60	\$165.00	924	\$831.60
	6.00	\$165.00	990	\$891.00
	21.00	\$190.00	3990	\$3,591.00
	9.20	\$190.00	1748	\$1,573.20
	18.90	\$190.00	3591	\$3,231.90
	4.50	\$190.00	855	\$769.50
	7.90	\$190.00	1501	\$1,350.90
	29.40	\$190.00	5586	\$5,027.40
	2.00	\$190.00	380	\$342.00
	24.80	\$190.00	4712	\$4,240.80
Chanelle L. Perry	19.90	\$110.00	2189	\$1,970.10
	29.30	\$110.00	3223	\$2,900.70
	17.50	\$110.00	1925	\$1,732.50
	21.70	\$110.00	2442	\$2,197.80
	9.30	\$110.00	1023	\$920.70
	31.90	\$120.00	3828	\$3,445.20
	0.80	\$120.00	96	\$86.40
	10.90	\$120.00	1308	\$1,177.20
	12.00	\$120.00	1440	\$1,296.00
	29.40	\$120.00	3528	\$3,175.20
	1.70	\$110.00	187	\$168.30
	20.50	\$120.00	2232	\$2,008.80
	24.90	\$120.00	2988	\$2,689.20
	2.90	\$120.00	348	
	14.00	\$120.00	1680	
	7.30	\$120.00	876	\$788.40
	5.70	\$120.00	684	\$615.60
	33.10	\$120.00	3972	\$3,574.80
	24.20	\$125.00	3025	
	4.50	\$125.00	562.5	
•	11.60	\$125.00	1450	
	12.40	\$125.00	1550	\$1,395.00
	9.80	\$125.00	1225	
	10.10	\$125.00	1262.5	
	7.90	\$125.00	987.5	
	5.90	\$125.00	737.5	
	10.60	\$125.00	1325	· · · · · · · · · · · · · · · · · · ·
	2.30	\$125.00	287.5	
	3.70	\$125.00	462.5	
	3.60	\$125.00	450	\$405.00
	52.30	\$130.00	6799	\$6,119.10
Christopher Alan Fedeli	6.40	\$200.00	1280	\$1,152.00

	41.50	\$240.00	9960	\$8,964.00
Christopher Savage	1.30	\$480.00	624	\$561.60
	1.40	\$480.00	672	\$604.80
	0.80	\$480.00	384	\$345.60
	7.70	\$480.00	3696	\$3,326.40
	0.20	\$480.00	96	\$86.40
	2.10	\$480.00	1008	\$907.20
	3.90	\$480.00	1872	\$1,684.80
	2.20	\$480.00	1056	\$950.40
	0.20	\$505.00	101	\$90.90
,	0.90	\$505.00	454.5	\$409.05
	0.90	\$505.00	454.5	\$409.05
David M. Silverman	21.40	\$400.00	8560	\$7,704.00
	19.00	\$400.00	7600	\$6,840.00
	52.90	\$400.00	21160	\$19,044.00
	44.80	\$400.00	17920	\$16,128.00
	13.90	\$405.00	5629.5	\$5,066.55
	12.60	\$400.00	5040	\$4,536.00
	4.50	\$405.00	1822.5	\$1,640.25
	0.70	\$400.00	280	\$252.00
	16.80	\$405.00	6804	\$6,123.60
	10.60	\$405.00	4293	\$3,863.70
	17.70	\$405.00	7168.5	\$6,451.65
	4.10	\$405.00	1660.5	\$1,494.45
	1.10	\$405.00	445.5	\$400.95
	3.30	\$405.00	1336.5	\$1,202.85
	17.00	\$405.00	6885	\$6,196.50
, , , , , , , , , , , , , , , , , , , ,	1.00	\$405.00	405	\$364.50
	1.30	\$425.00	552.5	\$497.25
	9.00	\$425.00	3825	\$3,442.50
	0.70	\$425.00	297.5	\$267.75
	0.40	\$425.00	170	\$153.00
	10.50	\$425.00	4462.5	\$4,016.25
	0.30	\$425.00	127.5	\$114.75
	1.50	\$445.00	667.5	\$600.75
Elizabeth Drogula	10.20	\$120.00	1224	\$1,101.60
	7.50	\$150.00	1125	\$1,012.50
	108.50	\$175.00	18987.5	\$17,088.75
Daniel P. Wierba	3.90	\$120.00	468	\$421.20
	4.60	\$225.00	1035	\$931.50
	19.10	\$125.00	2387.5	\$2,148.75
	9.30	\$125.00	1162.5	\$1,046.25
Daniel P. Reing	1.60	\$130.00	208	\$187.20
	5.60	\$160.00	896	\$806.40
Danielle Frappier	27.80	\$150.00	4170	\$3,753.00
	1.30	\$190.00	247	\$222.30
	68.50	\$150.00	10275	\$9,247.50
	4.80	\$190.00	912	\$820.80
	46.50	\$150.00	6975	\$6,277.50
	12.10	\$190.00	2299	\$2,069.10
	1.20	\$190.00	228	\$205.20
Cecil J. Erik	22.50	\$220.00	4950	\$4,455.00

.

Frederick W. Giroux	26.40	\$280.00	7392	\$6,652.80
	33.20	\$280.00	9296	\$8,366.40
	13.10	\$280.00	3668	\$3,301.20
	24.50	\$280.00	6860	\$6,174.00
	2.00	\$280.00	560	\$504.00
	58.50	\$290.00	16965	\$15,268.50
	4.40	\$290.00	1276	\$1,148.40
	28.30	\$290.00	8207	\$7,386.30
	11.90	\$290.00	3451	\$3,105.90
	48.00	\$290.00	13920	\$12,528.00
	45.90	\$290.00	13311	\$11,979.90
	64.70	\$290.00	18763	\$16,886.70
	62.40	\$290.00	18096	\$16,286.40
	29.20	\$290.00	8468	\$7,621.20
	40.00	\$290.00	11600	\$10,440.00
	37.50	\$290.00	10875	\$9,787.50
	36.20	\$290.00	10498	\$9,448.20
	24.80	\$300.00	7440	\$6,696.00
<u> </u>	2.80	\$300.00	840	\$756.00
	3.70	\$300.00	1110	\$999.00
	11.70	\$300.00	3510	\$3,159.00
	36.50	\$300.00	10950	\$9,855.00
	7.20	\$300.00	2160	\$1,944.00
	24.20	\$300.00	7260	\$6,534.00
	46.30	\$300.00	13890	\$12,501.00
	11.60	\$300.00	3480	\$3,132.00
	5.40	\$300.00	1620	\$1,458.00
	12.00	\$300.00	3600	\$3,240.00
	4.00	\$300.00	1200	\$1,080.00
	164.70	\$310.00	51057	\$45,951.30
Israel Baldera	5.80	\$130.00	754	\$678.60
israer baidera	0.30	\$130.00	39	\$35.10
Gerie A Miller	8.70	\$135.00	1174.5	\$1,057.05
Gerie A Willie	40.60	\$135.00	5481	\$4,932.90
	10.80	\$135.00	1458	\$1,312.20
	1.10	\$135.00	148.5	\$133.65
	27.30	\$150.00	4095	\$3,685.50
	32.50	\$190.00	6175	\$5,557.50
	73.90	\$150.00	11085	\$9,976.50
	0.70	\$195.00	136.5	\$122.85
	54.90	\$195.00	8235	\$7,411.50
		\$195.00		
	0.30		58.5	\$52.65
	1.50	\$195.00	292.5	\$263.25
	0.60	\$195.00	117	\$105.30
	5.00	\$195.00	975	\$877.50
	1.00	\$195.00	195	\$175.50
0.1.0.1/	7.80	\$195.00	1521	\$1,368.90
Gerie A. Voss	4.90	\$220.00	1078	\$970.20
	6.60	\$220.00	1452	\$1,306.80
	0.70	\$220.00	154	\$138.60
	0.60	\$220.00	132	\$118.80
	11.20	\$220.00	2464	\$2,217.60

Geoffreey C. Cook	13.10	\$280.00	3668	\$3,301.20
	25.30	\$275.00	6957.5	\$6,261.75
	14.70	\$290.00	4263	\$3,836.70
	102.70	\$290.00	29783	\$26,804.70
	144.40	\$250.00	36100	\$32,490.00
	134.30	\$290.00	25346	\$22,811.40
	165.50	\$250.00	39425	\$35,482.50
	24.90	\$290.00	3683	\$3,314.70
	51.80	\$250.00	12950	\$11,655.00
	59.90	\$290.00	16008	\$14,407.20
	137.40	\$250.00	32450	\$29,205.00
	1.20	\$290.00	348	\$313.20
	25.00	\$250.00	6250	\$5,625.00
	5.80	\$250.00	1450	\$1,305.00
	49.90	\$250.00	10900	\$9,810.00
	5.30	\$290.00	10900	\$9,810.00
	57.00	\$250.00	14250	\$12,825.00
	0.60	\$290.00	174	\$156.60
	0.60	\$250.00	150	\$135.00
	1.10	\$295.00	324.5	\$292.05
	19.70	\$295.00	5811.5	\$5,230.35
	80.30	\$295.00	23688.5	\$21,319.65
	5.80	\$295.00	1711	\$1,539.90
	17.80	\$295.00	5251	\$4,725.90
	10.10	\$295.00	2979.5	\$2,681.55
	0.10	\$310.00	31	\$27.90
Gina L. Lee	0.50	\$120.00	60	\$54.00
	0.60	\$120.00	72	\$64.80
	0.50	\$130.00	65	\$58.50
Genevieve D. Sapir	24.70	\$165.00	4075.5	\$3,667.95
	7.70	\$165.00	1270.5	\$1,143.45
	3.50	\$165.00	577.5	\$519.75
	10.20	\$225.00	2295	\$2,065.50
	0.20	\$225.00	45	\$40.50
	2.50	\$225.00	562.5	\$506.25
	1.80	\$225.00	405	
	17.20	\$225.00	3870	\$3,483.00
	0.20	\$255.00	51	\$45.90
	0.30	\$255.00	76.5	
	3.00	\$255.00	765	
	1.70	\$255.00	433.5	\$390.15
John C. Dodge	6.50	\$350.00	2275	\$2,047.50
	7.40	\$350.00	2590	\$2,331.00
	4.30	\$365.00	1569.5	\$1,412.55
	7.70	\$365.00	2810.5	
	12.70	\$365.00	4635.5	
	0.30	\$365.00	109.5	
	17.00	\$365.00	6205	
	1.00	\$365.00	365	
	0.80	\$365.00	219	
	1.00	\$365.00	365	
	0.40	\$365.00	146	\$131.40

	3.20	\$380.00	1216	\$1,094.40
	2.60	\$380.00	988	\$889.20
	0.50	\$380.00	190	\$171.00
	2.00	\$380.00	760	\$684.00
	11.60	\$380.00	4408	\$3,967.20
	0.40	\$380.00	152	\$136.80
	14.00	\$380.00	5320	\$4,788.00
	2.30	\$380.00	874	\$786.60
	1.40	\$380.00	532	\$478.80
	0.40	\$380.00	152	\$136.80
	1.60	\$380.00	608	\$547.20
	24.20	\$400.00	9680	\$8,712.00
Westley K. Littlejohn	6.50	\$150.00	975	\$877.50
vvoodoy it. Endojoini	4.00	\$150.00	600	\$540.00
	3.30	\$155.00	511.5	\$460.35
	1.20	\$155.00	186	\$167.40
	17.90	\$155.00	2774.5	\$2,497.05
	12.50	\$155.00	1937.5	\$1,743.75
	0.80	\$155.00	124	\$111.60
	0.20	\$155.00	31	\$27.90
John D. Seiver	0.20	\$400.00	80	\$72.00
CONT. D. CONTO	8.00	\$400.00	3200	\$2,880.00
	0.70	\$400.00	280	\$252.00
	2.60	\$400.00	1040	\$936.00
	16.10	\$420.00	6762	\$6,085.80
	2.40	\$420.00	1008	\$907.20
	8.60	\$420.00	3612	\$3,250.80
	108.90	\$420.00	45738	\$41,164.20
	18.50	\$420.00	7056	\$6,350.40
	34.90	\$420.00	14322	\$12,889.80
	16.80	\$420.00	7056	\$6,350.40
	29.90	\$420.00	12558	\$11,302.20
	8.60	\$420.00	3612	\$3,250.80
	3.00	\$420.00	1260	\$1,134.00
	6.60	\$435.00	2871	\$2,583.90
	7.60	\$435.00	3306	
	1.20	\$435.00	522	\$469.80
	2.60	\$435.00	1131	
	0.60	\$435.00	261	\$234.90
	9.20	\$435.00	4002	\$3,601.80
	4.10	\$435.00	1783.5	\$1,605.15
	15.00	\$435.00	6525	\$5,872.50
40.000	9.70	\$435.00	4219.5	\$3,797.55
	0.70	\$435.00	304.5	\$274.05
	5.00	\$435.00	2175	
	25.90	\$455.00	11784.5	
Thomas J. Davidson	13.60	\$375.00	5100	\$4,590.00
	2.30	\$375.00	862.5	\$776.25
	0.50	\$375.00	187.5	
	1.70	\$375.00	637.5	\$573.75
	1.90	\$390.00	741	\$666.90
	0.60	\$390.00	234	

	0.50	\$390.00	195	\$175.50
	15.40	\$300.00	4470	\$4,023.00
	6.70	\$390.00	2613	\$2,351.70
	0.70	\$415.00	290.5	\$261.45
	2.60	\$415.00	1079	\$971.10
	6.30	\$415.00	2614.5	\$2,353.05
Jeremy H. Stern	23.40	\$350.00	8190	\$7,371.00
Selenty 11. Oten	3.40	\$350.00	1190	\$1,071.00
	5.15	\$350.00	1802.5	\$1,622.25
	4.00	\$350.00	1400	\$1,260.00
	3.10	\$365.00	1131.5	\$1,018.35
	0.30	\$365.00	109.5	\$98.55
	29.00	\$365.00	10585	\$9,526.50
	0.20	\$365.00	73	\$65.70
	16.80	\$365.00	5949.5	\$5,354.55
	2.30	\$365.00	839.5	\$755.55
	0.30	\$365.00	109.5	\$98.55
	2.10	\$365.00	766.5	\$689.85
	0.20	\$365.00	73	\$65.70
	0.40	\$365.00	146	\$131.40
	8.00	\$365.00	2920	\$2,628.00
	8.40	\$380.00	3192	\$2,872.80
	0.30	\$380.00	114	\$102.60
	2.30	\$380.00	670	\$603.00
	0.40	\$380.00	152	\$136.80
	17.90	\$380.00	6384	\$5,745.60
	9.40	\$380.00	3572	\$3,214.80
	59.90	\$380.00	22762	\$20,485.80
	141.95	\$380.00	53941	\$48,546.90
	55.50	\$380.00	21090	\$18,981.00
	2.00	\$380.00	760	
	0.20	\$380.00	76	\$68.40
	4.70	\$380.00	1786	
	60.40	\$400.00	24160	
Julian K. Quattlebaum	4.10	\$300.00	1230	
Canarra Quataosaarr	16.00	\$300.00	4800	
	1.50	\$300.00	450	
	0.40	\$300.00	120	
	6.50	\$325.00	2112.5	
	0.20	\$325.00	65	\$58.50
	16.00	\$325.00	5200	\$4,680.00
	4.90	\$325.00	1592.5	
	27.70	\$325.00	9002.5	
	47.40	\$325.00	15405	
James F. Ireland	15.30	\$400.00	6120	
	1.80	\$400.00	720	
	21.00	\$405.00	8505	
	1.80	\$405.00	729	
	0.40	\$405.00	162	
	9.30	\$425.00	3952.5	
	1.30	\$425.00	552.5	
	48.80	\$425.00	20740	<u> </u>

	37.60	\$425.00	15980	\$14,382.00
	35.10	\$425.00	14917.5	\$13,425.75
	45.50	\$425.00	19337.5	\$17,403.75
	25.50	\$425.00	10837.5	\$9,753.75
	13.70	\$425.00	5822.5	\$5,240.25
	24.10	\$425.00	10242.5	\$9,218.25
	25.30	\$425.00	10752.5	\$9,677.25
	24.00	\$425.00	10200	\$9,180.00
	2.00	\$425.00	850	\$765.00
	17.80	\$445.00	7921	\$7,128.90
Jill M. Valenstein	22.00	\$170.00	3740	\$3,366.00
	3.70	\$170.00	629	\$566.10
	0.40	\$170.00	68	\$61.20
	0.70	\$240.00	168	\$151.20
	15.50	\$240.00	3720	\$3,348.00
	5.10	\$240.00	1224	\$1,101.60
	3.20	\$240.00	768	\$691.20
	7.90	\$240.00	1896	\$1,706.40
	1.60	\$240.00	384	\$345.60
	0.20	\$240.00	48	\$43.20
	0.70	\$240.00	168	\$151.20
	0.40	\$240.00	96	\$86.40
	0.30	\$295.00	88.5	\$79.65
Jennifer Toland	5.40	\$120.00	648	\$583.20
oono.	24.80	\$135.00	3348	\$3,013.20
	10.00	\$135.00	1350	\$1,215.00
	17.20	\$135.00	2322	\$2,089.80
	1.50	\$160.00	240	\$216.00
	0.60	\$160.00	96	\$86.40
	24.20	\$160.00	3872	\$3,484.80
	27.20	\$160.00	4352	\$3,916.80
Julie P. Gordy	4.00	\$135.00	540	\$486.00
	4.10	\$135.00	553.5	\$498.15
	4.00	\$135.00	540	\$486.00
	0.80	\$135.00	108	\$97.20
	10.60	\$145.00	1537	
	12.30	\$150.00	1845	\$1,660.50
	0.90	\$145.00	130.5	\$117.45
	2.30	\$145.00	333.5	\$300.15
	77.40	\$150.00	11610	\$10,449.00
	19.50	\$145.00	2827.5	\$2,544.75
	9.60	\$150.00	1440	\$1,296.00
	11.60	\$145.00	1232.5	\$1,109.25
	35.10	\$145.00	4415.5	\$4,006.35
	12.90	\$145.00	1827	\$1,644.30
	15.00	\$145.00	2175	
	2.90	\$145.00	420.5	\$378.45
	1.00	\$145.00	145	
	11.10	\$145.00	1609.5	\$1,448.55
	1.00	\$150.00	150	\$135.00
<u> </u>	3.50	\$150.00	525	\$472.50
	9.10	\$150.00	1365	

	27.80	\$150.00	4170	\$3,753.00
	11.80	\$150.00	1770	\$1,593.00
	3.50	\$150.00	525	\$472.50
	10.00	\$150.00	1500	\$1,350.00
	4.80	\$150.00	720	\$648.00
	20.60	\$150.00	3090	\$2,781.00
	5.40	\$150.00	810	\$729.00
	16.10	\$155.00	2495.5	\$2,245.95
Lisa Hernandez	45.60	\$125.00	5700	\$5,130.00
2100 1107101002	53.80	\$125.00	6725	\$6,052.50
	42.50	\$125.00	5312.5	\$4,781.25
	46.10	\$125.00	5762.5	\$5,186.25
	9.80	\$125.00	1225	\$1,102.50
	8.30	\$125.00	1037.5	\$933.75
	41.50	\$130.00	5395	\$4,855.50
Jim Tomlinson	54.50	\$230.00	12535	\$11,281.50
	9.40	\$230.00	2162	\$1,945.80
	13.80	\$230.00	3174	\$2,856.60
	21.70	\$245.00	5316.5	\$4,784.85
	51.90	\$245.00	12715.5	\$11,443.95
	1.70	\$245.00	416.5	\$374.85
	22.00	\$245.00	5390	\$4,851.00
	43.00	\$245.00	10535	\$9,481.50
	1.00	\$245.00	245	\$220.50
	2.50	\$245.00	612.5	\$551.25
	2.00	\$245.00	490	\$441.00
	11.40	\$245.00	2793	\$2,513.70
	35.20	\$265.00	9328	\$8,395.20
	4.70	\$265.00	1245.5	\$1,120.95
	24.80	\$265.00	6572	\$5,914.80
	9.70	\$265.00	2570.5	\$2,313.45
	53.00	\$265.00	14045	\$12,640.50
	1.90	\$265.00	503.5	\$453.15
	27.00	\$265.00	7155	\$6,439.50
	14.40	\$265.00	3816	\$3,434.40
	0.90	\$265.00	238.5	\$214.65
	1.30	\$265.00	344.5	\$310.05
	104.00	\$280.00	29120	\$26,208.00
Kristy J. Hall	20.90	\$180.00	3762	\$3,385.80
	221.20	\$180.00	39816	\$35,834.40
	56.70	\$180.00	10206	\$9,185.40
K.C. Halm	2.80	\$210.00	588	\$529.20
	6.10	\$210.00	1281	\$1,152.90
	2.80	\$270.00	756	\$680.40
Laura G. Schloss	1.30	\$150.00	195	
	22.00	\$150.00	3300	\$2,970.00
	30.70	\$150.00	4605	\$4,144.50
	14.60	\$195.00	2847	\$2,562.30
	5.10	\$150.00	765	\$688.50
	33.60	\$210.00	7056	\$6,350.40
	98.70	\$210.00	20727	\$18,654.30
	46.40	\$210.00	8127	\$7,314.30

	44.50	\$210.00	9345	\$8,410.50
	25.00	\$210.00	5250	\$4,725.00
	47.80	\$210.00	10038	\$9,034.20
	4.10	\$210.00	861	\$774.90
	4.00	\$210.00	840	\$756.00
	25.90	\$210.00	5439	\$4,895.10
Laura S. Moore	42.90	\$240.00	10296	\$9,266.40
	11.00	\$240.00	2640	\$2,376.00
	57.50	\$240.00	13800	\$12,420.00
	44.00	\$240.00	10560	\$9,504.00
	40.20	\$240.00	9648	\$8,683.20
	25.90	\$240.00	6216	\$5,594.40
	50.60	\$240.00	12144	\$10,929.60
	74.70	\$240.00	17928	\$16,135.20
	37.80	\$240.00	9072	\$8,164.80
	14.10	\$240.00	3384	\$3,045.60
	15.10	\$240.00	3624	\$3,261.60
	2.50	\$240.00	600	\$540.00
Lucy Nanez	0.50	\$140.00	70	\$63.00
Lucy Marioz	0.20	\$140.00	28	\$25.20
	2.10	\$150.00	315	\$283.50
	0.30	\$150.00	45	\$40.50
	1.00	\$150.00	150	\$135.00
	0.30	\$150.00	45	\$40.50
	0.30	\$150.00	45	\$40.50
<u> </u>	0.70	\$150.00	105	\$94.50
	1.30	\$150.00	195	\$175.50
	4.00	\$150.00	600	\$540.00
	0.40	\$155.00	62	\$55.80
	5.20	\$155.00	806	\$725.40
	0.30	\$155.00	46.5	\$41.85
	1.30	\$155.00	201.5	\$181.35
	6.80	\$155.00	1054	\$948.60
	14.40	\$155.00	2232	\$2,008.80
Maria C. Moran	37.70	\$150.00	5655	\$5,089.50
Walla G. Wolali	4.50	\$170.00	765	\$688.50
	2.00	\$170.00	340	\$306.00
	2.40	\$185.00	444	\$399.60
	104.30	\$185.00	19295.5	\$17,365.95
· · · · · · · · · · · · · · · · · · ·	22.40	\$185.00	4144	\$3,729.60
	16.90	\$185.00	3126.5	\$2,813.85
	5.10	\$215.00	1096.5	\$986.85
	2.00	\$215.00	430	\$387.00
	9.80	\$215.00	2107	\$1,896.30
	7.00	\$240.00	1680	\$1,512.00
Madie D. Gustafson	15.70	\$375.00	5887.5	\$5,298.75
iviacie D. Gustalson		\$375.00		\$1,687.50
	5.00	\$375.00	1875	
	69.45 153.90		26043.75	\$23,439.38
	1 103.901	\$375.00	57712.5	\$51,941.25
		\$27E 00	47400	ወላፎ ድድስ ስሳ
	46.40 44.20	\$375.00 \$380.00	17400 16796	\$15,660.00 \$15,116.40

	138.20	\$342.00	47264.4	\$42,537.96
	32.80	\$380.00	12464	\$11,217.60
	63.70	\$342.00	21785.4	\$19,606.86
	73.70	\$380.00	28006	\$25,205.40
	61.80	\$380.00	23484	\$21,135.60
	51.80	\$380.00	19684	\$17,715.60
	19.10	\$380.00	7258	\$6,532.20
	23.50	\$380.00	8930	\$8,037.00
	47.00	\$380.00	17708	\$15,937.20
	13.90	\$380.00	5282	\$4,753.80
	12.60	\$380.00	4788	\$4,309.20
	6.00	\$380.00	2280	\$2,052.00
	92.00	\$380.00	34960	\$31,464.00
	92.00	\$400.00	36800	\$33,120.00
	76.50	\$400.00	30600	\$27,540.00
	44.80	\$400.00	17920	\$16,128.00
	43.10	\$400.00	17240	\$15,516.00
	90.30	\$400.00	36120	\$32,508.00
	136.00	\$400.00	54400	\$48,960.00
	214.10	\$400.00	85640	\$77,076.00
	120.90	\$400.00	48360	\$43,524.00
	151.80	\$400.00	60720	\$54,648.00
	144.40	\$400.00	57760	\$51,984.00
	127.40	\$400.00	50960	\$45,864.00
	155.30	\$400.00	62120	\$55,908.00
	731.70	\$420.00	307314	\$276,582.60
Maurita K. Coley	2.60	\$380.00	988	\$889.20
Maaria IX. Ooloy	1.50	\$380.00	570	\$513.00
	0.50	\$380.00	190	\$171.00
Marlene P. Shoemaker	85.20	\$165.00	14058	\$12,652.20
Marierie F. Orlociniakei	48.20	\$165.00	7953	\$7,157.70
	10.90	\$165.00	1798.5	\$1,618.65
	1.30	\$165.00	214.5	\$193.05
	12.90	\$165.00	2128.5	\$1,915.65
	52.90	\$170.00	8993	\$8,093.70
	32.70	\$170.00	5559	\$5,003.10
	203.40	\$150.00	30510	\$27,459.00
	145.70	\$150.00	21855	\$19,669.50
	19.20	\$170.00	3264	\$2,937.60
	117.70	\$170.00	20009	\$18,008.10
	0.60	\$170.00	102	\$91.80
	14.90	\$170.00	2533	\$2,279.70
<u>, , , , , , , , , , , , , , , , , , , </u>	1.70	\$170.00	289	\$260.10
	8.70	\$170.00	1479	\$1,331.10
	41.70	\$170.00	7089	\$6,380.10
	49.20	\$170.00	8610	\$7,749.00
	14.50	\$175.00	2537.5	\$2,283.75
	14.50	\$175.00	262.5	\$2,263.75 \$236.25
	3.20		560	\$504.00
	5.20	\$175.00 \$175.00	910	\$819.00
	1.00		175	\$157.50
		\$175.00 \$175.00		
	0.70	\$175.00	122.5	\$110.25

	19.00	\$175.00	3325	\$2,992.50
	7.20	\$175.00	1260	\$1,134.00
	2.20	\$175.00	385	\$346.50
	2.20	\$175.00	385	\$346.50
	37.40	\$190.00	7106	\$6,395.40
Maria T. Browne	2.60	\$320.00	832	\$748.80
	3.80	\$320.00	1216	\$1,094.40
	0.80	\$320.00	256	\$230.40
	0.30	\$320.00	96	\$86.40
	10.00	\$335.00	3350	\$3,015.00
	3.30	\$335.00	1105.5	\$994.95
	1.50	\$335.00	502.5	\$452.25
	1.00	\$335.00	335	\$301.50
	0.90	\$335.00	301.5	\$271.35
	9.20	\$335.00	3082	\$2,773.80
	6.50	\$335.00	2177.5	\$1,959.75
	14.60	\$335.00	4891	\$4,401.90
	1.60	\$335.00	536	\$482.40
	9.40	\$335.00	3149	\$2,834.10
	0.30	\$335.00	100.5	\$90.45
	19.90	\$350.00	6965	\$6,268.50
	9.40	\$350.00	3290	\$2,961.00
	48.40	\$350.00	16940	\$15,246.00
	28.50	\$350.00	9975	\$8,977.50
	36.90	\$350.00	12915	\$11,623 <i>.</i> 50
	22.90	\$350.00	8015	\$7,213.50
	3.00	\$350.00	1050	\$945.00
	9.20	\$350.00	3220	\$2,898.00
	18.10	\$350.00	6335	\$5,701.50
	11.60	\$350.00	4060	\$3,654.00
	48.30	\$350.00	16905	\$15,214.50
	2.20	\$350.00	770	\$693.00
	1.50	\$350.00	525	\$472.50
	108.60	\$375.00	40725	\$36,652.50
Michael C. Sloan	1.80	\$375.00	675	\$607.50
Olivia D. Hill	4.00	\$150.00	600	\$540.00
Olivia D. Hili	12.00	\$150.00	1800	\$1,620.00
Paul Glist	12.00	\$480.00	5760	\$5,184.00
raui Glist	11.00	\$480.00	5280	\$4,752.00
	1.40	\$480.00	672	\$604.80
	2.30	\$480.00	1104	\$993.60
		\$480.00	2736	\$2,462.40
	5.70 11.90		5712	\$5,140.80
		\$480.00		
	0.30	\$480.00	144	\$129.60
	0.90	\$480.00	432	\$388.80 \$350.30
	0.60	\$480.00	288	\$259.20
	0.90	\$480.00	432	\$388.80
	12.00	\$480.00	5760	\$5,184.00
	11.90	\$480.00	5712	\$5,140.80
	12.00	\$480.00	5760	\$5,184.00
	1.40	\$480.00	672	\$604.80
	4.10	\$480.00	1968	\$1,771.20

	1.50	\$480.00	720	\$648.00
	1.30	\$480.00	624	\$561.60
	4.50	\$505.00	2272.5	\$2,045.25
	0.60	\$505.00	303	\$272.70
	8.60	\$505.00	4343	\$3,908.70
	0.30	\$505.00	151.5	\$136.35
	1.00	\$505.00	505	\$454.50
	8.40	\$505.00	4242	\$3,817.80
	38.80	\$575.00	22310	\$20,079.00
Robert G. Scott	6.40	\$390.00	2496	\$2,246.40
	5.90	\$390.00	2301	\$2,070.90
	1.30	\$390.00	507	\$456.30
	20.70	\$390.00	8073	\$7,265.70
	0.40	\$395.00	158	\$142.20
	0.90	\$395.00	355.5	\$319.95
	2.10	\$395.00	829.5	\$746.55
	1.40	\$395.00	553	\$497.70
	3.50	\$395.00	1382.5	\$1,244.25
	1.30	\$395.00	513.5	\$462.15
	1.30	\$420.00	546	\$491.40
	1.40	\$420.00	588	\$529.20
	0.60	\$420.00	252	\$226.80
	7.30	\$420.00	3066	\$2,759.40
	340.00	\$420.00	142800	\$128,520.00
	10.60	\$420.00	4452	\$4,006.80
	25.30	\$420.00	10626	\$9,563.40
	1.60	\$420.00	672	\$604.80
	1.90	\$420.00	798	\$718.20
	391.30	\$440.00	172172	\$154,954.80
Robert L. James	1.60	\$400.00	640	\$576.00
. (0.001, 21, 00,1100	1.50	\$400.00	280	\$252.00
	39.00	\$400.00	15600	\$14,040.00
	0.80	\$400.00	320	\$288.00
	39.50	\$400.00	15800	\$14,220.00
	14.80	\$400.00	5920	\$5,328.00
	47.40	\$400.00	18960	\$17,064.00
	30.20	\$400.00	12080	\$10,872.00
	37.60	\$400.00	15040	\$13,536.00
	34.90	\$400.00	13960	\$12,564.00
	23.40	\$400.00	9280	\$8,352.00
	16.40	\$400.00	6560	\$5,904.00
	15.20	\$400.00	5960	\$5,364.00
	14.10	\$400.00	1480	\$1,332.00
	5.90	\$400.00	2120	\$1,908.00
	4.90	\$400.00	1960	\$1,764.00
	10.40	\$420.00	4368	\$3,931.20
	8.00	\$420.00	3360	\$3,024.00
	8.10	\$420.00	3402	\$3,061.80
	1 0.10			
	4 20	\$420 00 1	1/h4	ווים זיסוב ויה
	4.20	\$420.00	1764 840	\$1,587.60 \$756.00
	4.20 2.00 1.10	\$420.00 \$420.00 \$420.00	840 462	\$756.00 \$415.80

	0.50	\$420.00	210	\$189.00
	1.10	\$420.00	462	\$415.80
	18.80	\$445.00	8366	\$7,529.40
Richard A. Gibbs	2.70	\$150.00	405	\$364.50
	27.70	\$150.00	4155	\$3,739.50
Rita A. Tewari	120.60	\$150.00	18090	\$16,281.00
	4.80	\$150.00	720	\$648.00
	12.20	\$150.00	1830	\$1,647.00
	6.40	\$165.00	1056	\$950.40
	190.10	\$150.00	28515	\$25,663.50
	2.40	\$165.00	396	\$356.40
	144.50	\$150.00	21675	\$19,507.50
	1.80	\$165.00	297	\$267.30
	34.20	\$190.00	6498	\$5,848.20
	43.80	\$190.00	8322	\$7,489.80
Steven J. Horvitz	186.20	\$395.00	73549	\$66,194.10
	158.60	\$395.00	62647	\$56,382.30
	101.10	\$395.00	39934.5	\$35,941.05
	35.90	\$395.00	14180.5	\$12,762.45
***************************************	32.80	\$395.00	12956	\$11,660.40
	37.90	\$415.00	15728.5	\$14,155.65
	40.80	\$415.00	16932	\$15,238.80
	77.90	\$415.00	32328.5	\$29,095.65
	25.00	\$373.50	9337.5	\$8,403.75
	75.90	\$415.00	31498.5	\$28,348.65
	83.25	\$415.00	34548.75	\$31,093.88
	58.26	\$415.00	24177.9	\$21,760.11
	82.60	\$415.00	34279	\$30,851.10
	43.20	\$415.00	17928	\$16,135.20
	38.70	\$415.00	14276	\$12,848.40
	49.90	\$415.00	20708.5	\$18,637.65
	18.80	\$415.00	7802	\$7,021.80
	65.50	\$415.00	27182.5	\$24,464.25
	43.20	\$415.00	17720.5	\$15,948.45
	28.70	\$415.00	11869	\$10,682.10
	38.60	\$430.00	16598	\$14,938.20
	20.10	\$430.00	8643	\$7,778.70
	32.30	\$430.00	13889	\$12,500.10
	8.20	\$430.00	3526	\$3,173.40
	9.50	\$430.00	4085	\$3,676.50
	6.40	\$430.00	2752	\$2,476.80
	7.90	\$430.00	3397	\$3,057.30
	9.50	\$430.00	4085	\$3,676.50
	9.80	\$430.00	4214	\$3,792.60
·	22.00	\$430.00	9460	\$8,514.00
	30.70	\$430.00	13201	\$11,880.90
	7.00	\$430.00	3010	\$2,709.00
Shannon M. Arndt	81.40	\$450.00	36630	\$32,967.00 \$183.60
Shannon M. Arndt	1.70	\$120.00	204	\$183.60
	5.60	\$120.00	672	\$604.80
	4.50	\$120.00	540	\$486.00
	2.30	\$130.00	299	\$269.10

	9.20	\$130.00	1196	\$1,076.40
	3.20	\$130.00	416	\$374.40
	0.30	\$130.00	39	\$35.10
	0.70	\$130.00	91	\$81.90
	0.60	\$130.00	78	\$70.20
	1.00	\$130.00	130	\$117.00
	1.30	\$140.00	182	\$163.80
	1.50	\$140.00	210	\$189.00
	1.20	\$140.00	168	\$151.20
	0.80	\$140.00	112	\$100.80
	23.30	\$140.00	3262	\$2,935.80
	32.10	\$140.00	4494	\$4,044.60
	72.10	\$140.00	10094	\$9,084.60
	30.30	\$140.00	4242	\$3,817.80
	11.20	\$140.00	1568	\$1,411.20
	6.10	\$140.00	854	\$768.60
	1.30	\$140.00	182	\$163.80
	1.60	\$140.00	224	\$201.60
Shannon M. Flynn	49.20	\$145.00	7134	\$6,420.60
Susan Westfall	1.50	\$370.00	555	\$499.50
	6.30	\$370.00	2331	\$2,097.90
	1.90	\$375.00	712.5	\$641.25
	13.80	\$375.00	5175	\$4,657.50
	12.20	\$375.00	4575	\$4,117.50
	0.30	\$375.00	112.5	\$101.25
	1.90	\$375.00	712.5	\$641.25
	12.60	\$375.00	4725	\$4,252.50
	13.60	\$375.00	5100	\$4,590.00
	14.90	\$375.00	5587.5	\$5,028.75
	8.20	\$375.00	3075	\$2,767.50
	2.10	\$375.00	787.5	\$708.75
	3.80	\$375.00	1425	\$1,282.50
	1.30	\$395.00	513.5	\$462.15
	13.00	\$395.00	5135	\$4,621.50
	8.20	\$395.00	3239	\$2,915.10
	7.50		2962.5	\$2,666.25
	5.80	\$395.00	2291	\$2,061.90
	5.40	\$395.00	2133	\$1,919.70
	12.50	\$395.00	4937.5	\$4,443.75
	3.90	\$395.00	1540.5	\$1,386.45
	17.10	\$395.00	6754.5	\$6,079.05
	9.70	\$395.00	3831.5	\$3,448.35
	13.50	\$395.00	5332.5	\$4,799.25
	0.40	\$395.00	158	\$142.20
	26.40	\$415.00	10956	\$9,860.40
Theresa A. Cavanaugh	10.80	\$320.00	3456	\$3,110.40
	27.80	\$320.00	8896	\$8,006.40
	8.70	\$320.00	2784	\$2,505.60
	13.20	\$330.00	4356	\$3,920.40
	7.80	\$330.00	2574	\$2,316.60
	2.60	\$330.00	858	\$772.20
	1.40	\$350.00	490	\$441.00
	1.40	\$350.00	490	<u> </u>

	1.50	\$350.00	525	\$472.50
Travis E. Litman	3.50	\$130.00	455	\$409.50
	3.80	\$130.00	494	\$444.60
Terri L. Weldon	6.40	\$150.00	960	\$864.00
	83.40	\$150.00	12510	\$11,259.00
	57.60	\$150.00	8640	\$7,776.00
	0.40	\$165.00	66	\$59.40
	0.60	\$150.00	90	\$81.00
	3.20	\$150.00	480	\$432.00
	8.30	\$170.00	1411	\$1,269.90
	19.00	\$150.00	2850	\$2,565.00
	30.40	\$170.00	5168	\$4,651.20
	13.90	\$150.00	2085	\$1,876.50
	57.10	\$170.00	9707	\$8,736.30
	9.00	\$170.00	1530	\$1,377.00
	2.30	\$170.00	391	\$351.90
	8.10	\$175.00	1417.5	\$1,275.75
Scott T. Thompson	0.20	\$310.00	62	\$55.80
Court. Monipoon	34.60	\$310.00	10726	\$9,653.40
	39.90	\$310.00	12369	\$11,132.10
	17.00	\$310.00	5270	
	3.90	\$310.00	1209	\$4,743.00
	50.00	\$325.00	16250	\$1,088.10 \$14,625.00
	9.90	\$325.00	3217.5	
	21.20	\$325.00		\$2,895.75
	83.80	\$325.00	6890	\$6,201.00
	12.50	\$325.00	27235	\$24,511.50
	11.90	\$325.00	4062.5	\$3,656.25
	69.40	\$325.00	3867.5	\$3,480.75
	32.70	\$325.00	22490	\$20,241.00
	13.40	\$325.00	10627.5	\$9,564.75
	14.70		4355	\$3,919.50
	39.00	\$325.00	4777.5	\$4,299.75
	28.00	\$345.00	13455	\$12,109.50
	0.80	\$345.00	9660	\$8,694.00
		\$345.00 \$345.00	276	\$248.40
	3.40		1173	\$1,055.70
	3.70	\$345.00	1276.5	\$1,148.85
	49.20	\$345.00	16974	\$15,276.60
	40.50	\$345.00	13972.5	\$12,575.25
	49.50	\$345.00	17077.5	\$15,369.75
	23.50	\$345.00	8107.5	\$7,296.75
	16.50	\$345.00	5692.5	\$5,123.25
	19.20	\$345.00	6624	\$5,961.60
	6.00	\$345.00	2070	\$1,863.00
Timothy Tobin	339.20	\$375.00	127200	\$114,480.00
Timothy Tobili	32.60	\$170.00	5542	\$4,987.80
	51.80	\$170.00	8806	\$7,925.40
	15.60	\$170.00	2652	\$2,386.80
	1.60	\$170.00	272	\$244.80
	9.10	\$185.00	1683.5	\$1,515.15
	37.10	\$185.00	6863.5	\$6,177.15
	2.30	\$170.00	391	\$351.90

	0.40	\$185.00	74	\$66.60
	137.90	\$150.00	20685	\$18,616.50
	5.50	\$185.00	1017.5	\$915.75
	11.20	\$185.00	2072	\$1,864.80
	141.10	\$185.00	26103.5	\$23,493.15
	57.50	\$185.00	10637.5	\$9,573.75
	87.00	\$185.00	16095	\$24,615.12
	46.30	\$185.00	8565.5	\$7,708.95
-	50.70	\$185.00	9379.5	\$8,441.55
	22.50	\$185.00	4162.5	\$3,746.25
	2.40	\$215.00	516	\$464.40
	12.70	\$215.00	2730.5	\$2,457.45
	6.60	\$215.00	1419	\$1,277.10
	12.20	\$215.00	2623	\$2,360.70
	14.30	\$215.00	3074.5	\$2,767.05
	17.70	\$215.00	3805.5	\$3,424.95
	17.60	\$215.00	3784	\$3,405.60
	14.90	\$215.00	3203.5	\$2,883.15
	3.30	\$215.00	709.5	\$638.55
	6.10	\$215.00	1311.5	\$1,180.35
	123.20	\$240.00	29568	\$26,611.20
William F. Bly	69.80	\$265.00	18497	\$16,647.30
	157.80	\$265.00	41817	\$37,635.30
	68.90	\$265.00	18258.5	\$16,390.36
	26.80	\$265.00	7102	\$6,391.80
	26.20	\$265.00	6943	\$6,248.70
	12.60	\$280.00	3528	\$3,175.20
	8.50	\$280.00	2380	\$2,142.00
· · · · · · · · · · · · · · · · · · ·	0.40	\$280.00	112	\$113.25
	49.30	\$280.00	13804	\$12,423.60
	24.00	\$280.00	6720	\$6,048.00
	25.40	\$280.00	7112	\$6,404.41
	98.00	\$280.00	27440	\$24,696.00
	26.80	\$280.00	7504	\$6,753.60
	24.60	\$280.00	6888	\$6,199.20
	21.40	\$280.00	5992	\$5,392.80
the state of the s	50.20	\$280.00	14056	\$12,650.40
	37.30	\$280.00	10444	\$9,399.60
	10.20	\$295.00	3009	\$2,708.10
	21.50	\$295.00	6342.5	\$5,708.25
	56.90	\$295.00	16785.5	\$15,106.95
	18.60	\$295.00	5487	\$4,938.30
	117.80	\$295.00	34751	\$31,275.90
	176.10	\$295.00	51949.5	\$46,754.55
	34.00	\$295.00	10030	\$9,027.00
	109.50			
		\$295.00	32302.5	\$29,072.25 \$24,452.55
	92.10	\$295.00	27169.5	\$24,452.55
	84.20	\$295.00	24839	\$22,355.10
Milliana I Halianakattan	384.90	\$330.00	127017	\$114,315.30
William J. Helmstetter	31.20	\$120.00	3744	\$3,369.60
	35.80	\$120.00	4296	\$3,866.40
	23.00	\$120.00	2760	\$2,484.00

	18.00	\$150.00	2700	\$2,430.00
	11.20	\$150.00	1680	\$1,512.00
	92.00	\$150.00	13800	\$12,420.00
	79.40	\$150.00	11910	\$10,719.00
	26.50	\$150.00	3975	\$3,577.50
	14.80	\$150.00	2220	\$1,998.00
	30.90	\$150.00	4635	\$4,171.50
	41.90	\$150.00	6285	\$5,656.50
	77.50	\$150.00	11625	\$10,462.50
	41.70	\$150.00	6255	\$5,629.50
	25.80	\$150.00	3870	\$3,483.00
	11.50	\$180.00	2070	\$1,863.00
	0.30	\$180.00	54	\$48.60
	10.70	\$180.00	1926	\$1,733.40
	2.80	\$180.00	504	\$420.00
	19.70	\$180.00	3546	\$3,191.40
	2.80	\$180.00	504	\$453.60
	12.60	\$180.00	2268	\$2,041.20
	12.30	\$180.00	2214	\$1,992.60
	0.50	\$180.00	90	\$82.11
	8.20	\$210.00	1722	\$1,549.80
Washin D. Honnlor	29.60	\$440.00	13024	\$11,721.60
Wesley R. Heppler	16.20	\$480.00	7776	\$6,998.40
	0.80	\$440.00	352	\$316.80
	78.90	\$480.00	37872	\$34,084.80
	12.70	\$440.00	5588	\$5,029.20
	81.00	\$480.00	38880	\$34,992.00
	62.00	\$480.00	29760	\$26,784.00
	16.80	\$440.00	7392	\$6,652.80
	29.50	\$440.00	12980	\$11,682.00
	89.00	\$480.00	42720	\$38,448.00
			29760	\$26,784.00
	62.00	\$480.00 \$440.00	10824	\$9,741.60
	24.60		27600	\$24,840.00
	57.50	\$480.00	31776	\$28,598.40
	66.20	\$480.00	22896	\$20,606.40
	53.00	\$432.00		
	38.00	\$432.00	16416	
	91.70	\$480.00	44016	
	89.00	\$480.00	42720	
	56.40	\$480.00	27072	
	49.80	\$480.00	22944	
	89.50	\$480.00	28224	
	66.70	\$480.00	32016	
	55.80	\$480.00	26784	
	46.30	\$480.00	22224	
	34.80	\$505.00	17574	
	19.50	\$505.00	9847.5	
	42.70	\$505.00	21563.5	
	34.70	\$505.00	17523.5	
	56.70	\$505.00	28633.5	
	46.30	\$505.00	23381.5	
	65.20	\$505.00	32926	\$29,633.40

	53.00	\$505.00	26765	\$24,088.50
	50.50	\$505.00	25502.5	\$22,952.25
	27.10	\$505.00	13685.5	\$12,316.95
	51.70	\$505.00	26108.5	\$23,497.65
	194.00	\$540.00	104760	\$94,284.00
Wendy Wu	4.80	\$210.00	1008	\$907.20
vvollay vva	3.00	\$210.00	630	\$567.00
	25.80	\$210.00	5418	\$4,876.20
	94.60	\$230.00	21758	\$19,582.20
Timekeeper Split Billing	60.79		66.09	\$59.48
типокоорог орис эшилд			824.97	\$742.47
			437.86	\$394.07
			691.75	\$622.58
			1348.38	\$1,213.54
			247.62	\$222.86
			614.02	\$552.62
			5353.44	\$4,818.10
	25182.50			\$7,180,510.71

EXHIBIT C SUMMARY OF OUT-OF-POCKET EXPENSES

Adelphia	Communications Expense Summa	ry		
·	g Period 5/1/2003Through 12/31/200			
Expense				
Code	Exp. Code Description			
2	Duplicating Expense	24.51		
5	Telecopy Expense	2,129.05		
9	Telephone Charges	4,310.16		
12	Travel	29,825.61		
16	FCC Rules & Regulations Book 2	10,282.40		
17	Government Filing Fees	27,559.59		
18	EEO Handbook	889.44		
23	Miscellaneous Expenses	12,068.66		
	Transcripts	10,384.44		
	Telecopy Expense	2,006.50		
	Computerized legal research	26,729.14		
32	Computerized legal research	15,351.58		
56	Postage	1,153.07		
57	Courier Service	4,562.44		
58	Federal Express/UPS	3,178.62		
	Courier Service/FCC Filings	3,385.23		
65	On-line Services	153.48		
77	Professional Services	6,523.12		
. 80	Duplicating Expense -In House	17,798.93		
	Telecopy Expense-Equitrac Sy	2,900.16		
82	Duplicating Expense - Outside	6,933.91		
	Travel Expense - Airfare	23,943.97		
	Travel Expense - Hotel	24,880.97		
92	Travel Expense - Meals	2,508.89		
	Travel Expense - Car Rental	1,795.00		
	Travel Expense - Mileage	951.67		
	Travel Expense -Cab Fare	437.90		
	Travel Expense -Parking	1,098.00		
		311,370.42		-

EXHIBIT D

CERTIFICATION PURSUANT TO ADMINISTRATIVE GUIDELINES FOR FEES AND DISBURSEMENTS FOR PROFESSIONALS IN SOUTHERN DISTRICT OF NEW YORK BANKRUPTCY CASES

UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK

SOUTHERN DISTRICT OF NEW YORK			
In re: ADELPHIA COMMUNICATIONS, et al.,	Chapter 11 Case No. 02-41729 (REG)		
Debtors.	(Jointly Administered)		

CERTIFICATION PURSUANT TO ADMINISTRATIVE ORDER RE: GUIDELINES FOR FEES AND DISBURSEMENTS FOR PROFESSIONALS IN SOUTHERN DISTRICT OF NEW YORK BANKRUPTCY CASES

- I, Steven J. Horvitz, certify as follows:
- 1. I am a partner of the firm of Cole, Raywid & Braverman, LLP ("CRB"). CRB represents the debtors and debtors in possession in the above-captioned cases (collectively, the "Debtors").
- 2. I submit this certification in conjunction with CRB's application, dated March 30, 2007 (the "Final Application"), for allowance of fees and reimbursement of expenses in these cases for the period from May 1, 2003 through December 31, 2006, inclusive (the "Final Application Period").
- 3. I am the professional designated by CRB with the responsibility for CRB's compliance in these cases with the Administrative Order, dated April 19, 1995 (the "Amended Guidelines"), in this District regarding guidelines for fees and disbursements for professionals in bankruptcy cases.
- 4. I have read CRB's Final Application and, to the best of my knowledge, information and belief formed after reasonable inquiry (except as stated herein or in the Final Application): (i) the fees and disbursements sought in the Final Application fall within the Amended Guidelines and the guidelines promulgated May 30, 1995, by the Office of the United States Trustee (the "UST Guidelines" and together with the Amended Guidelines the

"Guidelines"); and (ii) except to the extent the fees and disbursements are prohibited by the Guidelines, the fees and disbursements sought are billed at or below the rates and in accordance with practices customarily employed by CRB and generally accepted by its clients.

- 5. The Debtors have reviewed CRB's monthly fee statements that form the basis for the Final Application and approved the amounts requested therein. Such monthly statements of fees and disbursements have been provided to the United States Trustee, the Debtors, and the Debtors' Official Creditors' Committee (the "Committee"), although not always within the time prescribed by the Guidelines or the Fee Procedure Order.
- 6. A copy of the Final Application has been provided to the United States Trustee, the Committee, and the Debtors contemporaneously with the filing hereof.
- 7. The time records set forth in reasonable detail the services rendered by CRB in these cases.
- 8. CRB has sought to keep its fees and expenses at a reasonable level and to utilize professional services and incur expenses as necessary to competently represent the Debtors.

Dated: March 30, 2007

Steven J Howitz

Sworn to before me this 30th day of March, 2007

Nichele Y. Rice

Notary Public, District of Columbia

My Commission Expires June 30, 2010

EXHIBIT E

AFFIDAVIT PURSUANT TO SECTION 504 OF THE BANKRUPTCY CODE AND BANKRUPTCY RULE 2016

UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK

In re:	- Chapter 11 Case No.
ADELPHIA COMMUNICATIONS, et al.,	02-41729 (REG)
Debtors.	(Jointly Administered)

AFFIDAVIT PURSUANT TO SECTION 504 OF THE BANKRUPTCY CODE AND BANKRUPTCY RULE 2016

DISTRICT OF COLUMBIA) ss.:

Steven J. Horvitz, being duly sworn, deposes and says:

- A. I am a partner of the firm of Cole, Raywid & Braverman, LLP ("CRB"), which maintains offices at 1919 Pennsylvania Avenue, NW, Suite 200, Washington, D.C. 20006.
- B. By order dated July 22, 2003, CRB was retained as special communications regulatory counsel to represent the above-captioned debtors and debtors in possession (collectively, the "Debtors").
- C. This affidavit is submitted pursuant to Rule 2016 of the Federal Rules of Bankruptcy Procedure in connection with CRB's application for (a) final allowance of compensation for services rendered as counsel to Debtors from May 1, 2003 through December 31, 2006, inclusive; and (b) the reimbursement of expenses incurred in connection therewith.
- D. No agreement or understanding exists between CRB and any person for a division of compensation or reimbursement received or to be received herein or in connection with the within cases.

E. To date, CRB has received no payment, except pursuant to this Court's Order Under Local Rule 2016-1 and 11 U.S.C. §§1-5(a) and 331 Establishing Procedures for Interim Compensation And Reimbursement Of Expenses Of Professionals And Committee Members, dated August 9, 2002, or promise of payment for the services rendered in these chapter 11 cases other than pursuant to the order authorizing the retention of CRB herein and as disclosed herein and in CRB's Final Application.

Dated: March 30, 2007

Steven J. Horvitz

Sworn to before me this 30th day of March, 2007

Nichele Y. Rice

Notary Public, District of Columbia My Commission Expires June 30, 2010

EXHIBIT F

SUMMARY SHEET PURSUANT TO UNITED STATES TRUSTEE GUIDELINES FOR REVIEWING APPLICATIONS FOR COMENSATION AND REIMBURSEMENT OF EXPENSES FILED UNDER 11 U.S.C. 330

UNITED STATES BANKRUPTCY COURT SOUTHERN DISTRICT OF NEW YORK In re: Chapter 11 Case No. 02-41729 (REG) ADELPHIA COMMUNICATIONS, et al., Debtors. (Jointly Administered)

SUMMARY SHEET PURSUANT TO UNITED STATES TRUSTEE GUIDELINES FOR REVIEWING APPLICATIONS FOR COMENSATION AND REIMBURSEMENT OF EXPENSES FILED UNDER 11 U.S.C. 330

- I, Steven J. Horvitz, certify as follows:
- 1. <u>Total Compensation and Expenses Requested</u>. Cole, Raywid & Braverman, LLP ("CRB"), in connection with its Final Application (the "Application") for allowance of compensation for professional services rendered and reimbursement of expenses incurred in the above-captioned cases, has requested the Court to enter an order:
 - (a) awarding CRB allowance of compensation for professional services rendered to the Debtors in the aggregate amount of \$7,180,510.71;
 - (b) awarding CRB reimbursement of actual and necessary expenses incurred in connection with the rendition of such professional services in the amount of \$311,370.42.
- 2. <u>Total Compensation and Expenses Previously Awarded</u>. CRB has previously submitted to this Court Applications for Interim Allowance of Compensation for Services Rendered and Reimbursement of Expenses for the Third through Twelfth Interim Periods. A summary of the compensation requested, amounts previously paid, and amounts still pending is set forth below.

Total Fee and Expenses for Interim Period	Amount Paid Based on Monthly Fee and Expenses Statement		20% Holdback		10% Holdback Paid after Interim Application	Fee Committee Reduction			ld Back I Pending
\$241,368.18	\$	195,234.18	\$	46,134.00	(\$10,317.00)	(13,479.00)		\$	22,338.0
\$642,468.27	\$	517,574.27	\$	124,894.00	(\$39,447.00)	(24,957.00)		\$	60,490.0
\$830,757.23	\$	677,369.23	\$	153,388.00				\$	153,388.0
\$1,190,308.20	\$	965,071.20	\$	225,237.00	(\$111,452.00)	(1,240.00)		\$	112,545.0
\$688,899.04	\$	558,661.04	\$	130,238.00	(\$65,045.00)	(6,872.00)	\$ (77,162.00)	\$	(18,841.00
\$524,575.29	\$	426,427.29	\$	98,148.00		,		\$	98,148.0
\$1,158,761.60	\$	971,850.60	\$	186,911.00	(\$112,835.00)	(600.00)		\$	73,476.0
\$1,172,478.43	\$	969,349.43	\$	203,129.00			\$ (501,543.00)	\$	(298,414.00
\$1,027,657.08	\$	774,755.97	\$	258,884.00				\$	258,884.0
\$14,607.81	\$	6,142.00	\$	2,482.92				\$	2,482.9
\$7,491,881.13	\$	6,062,435.21	\$	1,429,445.92	\$ (339,096.00)	(47,148.00)	\$ (578,705.00)	\$	464,496.9

3. Name, Billing Rate and Total Hours Billed for Each Professional. Please refer to Exhibit B to CRB's Final Application for the names and applicable billing rates for each professional and paraprofessional who billed time during the period for which compensation for

services rendered and reimbursement of expenses incurred is sought and the total hours billed by each such professional.

Dated: March 30, 2007

Steven J. Hyrvitz

Sworn to before me this 30th day of March, 2007

Nichele Y. Rice

Notary Public, District of Columbia My Commission Expires June 30, 2010